Maytag MFR30PDCTS 09 - BASKET & OUTER SHELL ASSEMBLY

;"" .'l'.
520 781

Maytag Commercial Maytag MFR30PDCTS Washer Parts Parts Diagram 09 - BASKET & OUTER SHELL

ASSEMBLY
Click on the part number to view part

001
002
003
004
005
006
007
008
009
010
011
012
013
014
015
016

Original Part Number Replaced By Part Description
23004027 Bearing Housing
23004028 Inner Tub Complete
23004029 Outer Tub Complete
23004140 Tub Front

23004030 Axial Seal Holder
23004031 Sealing Ring Complete
23001234 12002779 Water Seal

23001233 12002779 Water Seal

23003615 Front Bearing
23004032 Bearing

23004141 Front Cover Clip
23004142 Clamp li

23003807 Temperature, Sensor Holder
23004143 Spacer

23004144 Bolt M16 X 80
23004145 Bolt M12 X 60


http://www.pwslaundry.com/c-299416-commercial-maytag-mfr30pdcts-washer-parts-for-repair-service
http://www.pwslaundry.com/i-7799455-maytag-23004027-washer-bearing-housing.html
http://www.pwslaundry.com/i-7799456-maytag-23004028-washer-inner-tub-complete.html
http://www.pwslaundry.com/i-7799457-maytag-23004029-washer-outer-tub-complete.html
http://www.pwslaundry.com/i-7799564-maytag-23004140-washer-tub-front.html
http://www.pwslaundry.com/i-7799458-maytag-23004030-washer-axial-seal-holder.html
http://www.pwslaundry.com/i-7799459-maytag-23004031-washer-sealing-ring-complete.html
http://www.pwslaundry.com/i-7796377-maytag-12002779-washer-water-seal.html
http://www.pwslaundry.com/i-7796377-maytag-12002779-washer-water-seal.html
http://www.pwslaundry.com/i-7799155-maytag-23003615-washer-front-bearing.html
http://www.pwslaundry.com/i-7799460-maytag-23004032-washer-bearing.html
http://www.pwslaundry.com/i-7799565-maytag-23004141-washer-front-cover-clip.html
http://www.pwslaundry.com/i-7799566-maytag-23004142-washer-clamp-ii.html
http://www.pwslaundry.com/i-7799266-maytag-23003807-washer-temperature-sensor-holder.html
http://www.pwslaundry.com/i-7799567-maytag-23004143-washer-spacer.html
http://www.pwslaundry.com/i-7799568-maytag-23004144-washer-bolt-m16-x-80.html
http://www.pwslaundry.com/i-7799569-maytag-23004145-washer-bolt-m12-x-60.html

018 23004000 Bolt M6 X 60

020 23003769 23001203 Washer

022 23002756 Lockwasher

024 23001651 LOCKING NUT M16

026 23001607 23001266 Nut M8

028 23003773 Not Available NUT M6

030 23002179 Washer Nut M14

032 23004148 Tub Front Gasket


http://www.pwslaundry.com/i-7799430-maytag-23004000-washer-bolt-m6-x-60.html
http://www.pwslaundry.com/i-7798076-maytag-23001735-washer-washer-m17.html
http://www.pwslaundry.com/i-7797780-maytag-23001203-washer-washer.html
http://www.pwslaundry.com/i-7799570-maytag-23004146-washer-washer-m37x13x3.html
http://www.pwslaundry.com/i-7798606-maytag-23002756-washer-lockwasher.html
http://www.pwslaundry.com/i-7797823-maytag-23001265-washer-washer.html
http://www.pwslaundry.com/i-7798031-maytag-23001651-washer-nut-m16.html
http://www.pwslaundry.com/i-7799189-maytag-23003676-washer-nut-m12.html
http://www.pwslaundry.com/i-7798003-maytag-23001607-washer-nut-m8.html
http://www.pwslaundry.com/i-7797824-maytag-23001266-washer-nut-m8.html
http://www.pwslaundry.com/i-7799571-maytag-23004147-washer-washer-17.html
http://www.pwslaundry.com/i-7797856-maytag-23001309-washer-washer-lu.html
http://www.pwslaundry.com/i-7798281-maytag-23002179-washer-washer-nut-m14.html
http://www.pwslaundry.com/i-7799285-maytag-23003831-washer-temperature-sensor.html
http://www.pwslaundry.com/i-7799572-maytag-23004148-washer-tub-front-gasket.html
http://www.pwslaundry.com/i-7799461-maytag-23004033-washer-hub-complete-w-bearings.html

	Maytag MFR30PDCTS 09 - BASKET & OUTER SHELL ASSEMBLY

